

## Republic of the Philippines CENTRAL MINDANAO UNIVERSITY BIDS AND AWARDS COMMITTEE

University Town, Musuan, Maramag, Bukidnon E-mail: bac@cmu.edu.ph

## NOTICE OF AWARD

JUN 16 2021;

Ms. JOEMARIE LAGRIMOSA VERDEPRADO
Authorized Representative
CHEMVEST COMMERCIAL TRADING
Damaso Suazo St., Davao City.

Dear Sir:

This is to inform you that your bid proposal for the PROCUREMENT OF LABORATORY APPARATUSES which shall be funded under *Trust Fund* after having been post-qualified and declared to have obtained the Lowest Calculated Responsive Bid, has been recommended for award by the Bids and Awards Committee (BAC) of Central Mindanao University by virtue of *BAC Resolution No. TF-21-PB-51*, and the same has been approved by the Central Mindanao University thru the undersigned at the amount of One Million Five Hundred Seventy-Four Thousand Eight Hundred Fifty-Six and 85/100 Pesos Only (Php1,574,856.85). You are hereby requested to manifest your acceptance of this Notice of Award.

Relative thereto, and in accordance with the provisions of the documents and Revised R.A. No. 9184, otherwise known as the Government Procurement Reform Act and its Implementing Rules and Regulations, you are hereby instructed to submit the following documents with ten (10) calendar days from the date of your receipt of this Notice of Award to within:

### A. PERFORMANCE SECURITY

This is to be posted in favor of the Central Mindanao University, in the form of cash, manage of check, cashier's check, bank draft/guarantee confirmed by local bank, irrevocable letter of credit issued by a reputable bank, surety bond callable upon demand, issued by the Government Service Insurance System or any reputable surety or insurance company duly accredited by the Office the Insurance Commissioners, or a combination thereof IN ACCORDANCE with the following schedule:

FORM OF PERFORMANCE SECURITY	AMOUNT OF PERFORMANCE SECURITY (EQUAL TO PERCENTAGE OF THE TOTAL CONTRACT PRICE)
Cash or cashier's/manager's check issued by a Universal or Commercial Bank.  Bank draft/guarantee or irrevocable letter of credit	Five percent (5%)
issued by a Universal or Commercial Bank: Provided, however, that it shall be confirmed or authenticated by a Universal or Commercial Bank, if issued by a foreign bank.	TO A PARTY COMPANY OF THE PART
Surety bond callable upon demand issued by a surety or insurance company duly certified by the Insurance Commission as authorized to issue such security; and/or	Thirty percent (30%)
Any combination of the foregoing.	Proportionate to share of form with respect to total amount of security

Within the same period of ten (10) days as indicated above, you are directed to enter into and execute the Goods Contract with the University.

This Performance Security shall be forfeited in favor to Central Mindanao University in the event of default on your part in the performance of any of your obligations under the Contract.

Finally, it must be noted that you shall not commence the work nor initiate the procurement of materials for the project prior to your receipt of the Notice to Proceed.

Very truly yours,

Received, Acknowledged and Accepted:

Name: Jaimmi



# Republic of the Philippines CENTRAL MINDANAO UNIVERSITY Bids and Awards Committee

University Town, Musuan, Maramag, Bukidnon E-mail: bac@cmu.edu.ph

## CONTRACT OF AGREEMENT

REF. NO. -TF-21-PB-51

THIS AGREEMENT made this USL 16 2021 between CENTRAL MINDANAO UNIVERSITY of the Philippines (thereinafter called "the Entity") of the one part and CHEMVEST COMMERCIAL TRADING at Damaso Suazo St., Davao City. (hereinafter called "the Supplier") of the other part:

Whereas, the Entity invited Bids for certain goods and ancillary services, viz. PROCUREMENT OF LABORATORY APPARATUSES and has accepted a Bid by the Supplier for the supply of those goods and services in the sum of <u>One Million Five Hundred Seventy-Four Thousand Eight Hundred Fifty-Six and 85/100 Pesos Only (Php1,574,856.85)</u> with the items listed below:

ITEM	ÚNIT	QTY	DESCRIPTION OFFER		UNIT PRICE	TOTAL AMOUNT
			LOT 1-K.D.F VENCI	و		THE CONTRACT OF THE CONTRACT O
1	box.	1 /	Glass Slide (100/box)		120.00 /	120.00
2	box	1 /	Gloves, non-sterile (100/box)		300.00 /	300.00
3	roll	3 /	Paper towel		60.00	180.00
4	roll	3 /	Tissue paper (lintless)		30.00	90.00
5	piece	3 /	BOTTLE BRUSH		50.00	150.00
6	pack	1	Nitrile gloves, 1 box		500.00	500.00
7	box	1	Pipette tips, yellow, 500 pcs/pack, 1 pack		800.00	800.00
8	box	1	Pipette tips, white, 500 pcs/pack, 1 pack		800.00	800.00
9	box	4	Gloves (small)		300.00	1,200.00
10	box	5/	Gloves (Medium)		300.00	1,500.00
11	box	5/	Gloves (large)		300.00	1,500.00
12	pack	1/	Cotton Balls		520.00	520.00
13	box	5_	Delicate wipes		340.00	1,700.00
14	pack	4	Shoulder-length gloves		2,700.00	10,800.00
15	pack	5	Mask	-	100.00	500.00
16	pair	10 /	Petri dish		360.00	3,600.00
17	pair	5 /	Petri dish		360.00	1,800.00
18	pair	10 /	Petri dish		360.00 /	3,600.00
				<u> </u>		

ra Ula

					<del></del>
<b>1</b> 9	pcs	4 /	1000 ml Graduated cylinder	2,560.00	10,240.00
20	pcs	1	Weighing boat	3,600.00	3,600.00
21	pcs	3 /	50 ml conical tube with rack	2,240.00 /	6,720.00
22	pcs	3 /	15 ml conical tube with rack	1,560.00 /	4,680.00
23	roll	1/	Parafilm	2,600.00	2,600.00
24	box	3	Syringe (5ml)	400.00 /	1,200.00
25	pcs	· 3	Scalpel Blade (no.10)	80.00	240.00
26	pcs	100	Pasteur pipette	6.00	600.00
27	pcs	5 /	Scalpel handle (no.3)	80.00	400.00
28	box	3 /	Syringe (10ml)	1,000.00	3,000.00
29	box	3 /	Syringe (20ml)	1,200.00	3,600.00
30	pack	10 /	Heat sealables plastics	190.00	1,900.00
31	pack	10 /	Heat sealables plastics	90.00	900.00
32	pcs	15	Needle holder	120.00	1,800.00
33	pack	1	Pipette tips (sterile)	4,500.00 /	4,500.00
34	pack	1	Pipette tips (sterile)	4,800.00	4,800.00
35	pack	1	Pipette tips (non-sterile)	6,256.00 /	6,256.00
36	pack	1 /	Pipette tips (non-sterile)	6,256.00	6,256.00
37	box	5 /	Gauge 18 needles	480.00	2,400.00
38	pcs	5 /	Tubercullin syringe	20.00	100.00
39	unit	1 /	Heavy Duty Impulse Sealer 300mm (Heat sealer)	480.00	480.00
40	set	1 /	Drenching Gun 200 MI	3,000.00	3,000.00
41	piece	2 /	LCD digital thermometer	450.00	900.00
			LOT 1-K.D.F VENCI		
1	box	3 /	Description: Gloves, Nitrile, small, latex free, powder free, ambidextrous	750.00	2,250.00
2	box	3 /	Description: Gloves, Nitrile, medium, Latex free, powder free, ambidextrous	800.00	2,400.00
3	box	3	Description: Gloves, Nitrile, large, Latex free, powder free, ambidextrous	800.00	2,400.00
4			Specifications: Delicate task wipes,		
	pack	5 /	Made from 100% pure fibre, white- coloured wipes; chemically inert, dispensed from flexible pop-up box	350.00	1,750.00
5	box	5 /	Specifications: Al shoulder length gloves	190.00 /	950.00

6			Specifications: 250 MI		
			Erlenmeyer		
	рс	4	flask capacity: 250 mL/ Pyrex Top style: heavy duty rim Neck style: narrow mouth Graduation range: 50- 200 mL	280.00	1,120.00
7	pc	5	Specifications: 500 mL Erlenmeyer flask capacity: 500 mL/ Pyrex Top style: heavy duty rim Neck style: narrow mouth Graduation range: 100- 500 mL	360.00	1,800.00
8	pc	2	Specifications: 1000 mL Erlenmeyer flask capacity: 1000 mL/ Pyrex Top style: heavy duty rim Neck style: narrow mouth Graduation range: 250-1000 mL	690.00	1,380.00
9	pc	3	Specifications: 100 mL Beaker Capacity: 100 mL/ Pyrex, Graduation interval: 10 mL Graduation range: 20-80	230.00	690.00
10	рс	3 /	Specifications: 500 mL Beaker Cepacity: 500 mL/ Pyrex Graduation interval: 50 mL Graduiaton range: 50-400	395.00	1,185.00
11	pc	2 /	Specifications: 1000 mL Beaker Capacity: 1000 mL/ Pyrex, Graduation interval: 50 mL Graduiaton range: 50-1000	710.00	1,420.00
12	pc	2	Specifications:100 ml. volumetric flask Capacity: 100 mL/ Pyrex, Tolerance: 0.08 ml. Approx. O.D. x Height: 60x181 mm TS Stopper No.: 13	910.00	1,820.00
13	рc	2	Specifications: 500 mL volumetric flask, Capacity: 500 mL / Pyrex, Tolerance: 0.2 mL Approx. O.D. x Height: 99x287 mm TS Stopper No.: 19	1,550.00	3,100.00
14	pc	2 /	Specifications: 1000 mL volumetric flask Capacity: 1000 mL/ Pyrex Tolerance: 0.3 mL Approx. O.D. x Height: 127x346 mm TS Stopper No.: 22	1,950.00	3,900.00
15	рс	2 /	Specifications:25 mL graduated cylinder Capacity: 25 mL/ Pyrex height: approx. 192 mm outer diameter: approx. 18 mm Graduation interval: 0.2 mL Tolerance: +/- 0.3 mL Reusable; not sterile pourout; no stopper	765.00	1,530.00
16	pc	2 /	Specifications: 100 mL graduated cylinder height: approx. 254 mm outer diameter: approx. 29 mm Graduation interval: 1.0 mL Reusable; not sterile pourout; no stopper Tolerance: +/- 1.0 mL Capacity: 100	920.00	1,840.00
17	pc	2 /	mL/ Pyrex  Specifications:500 mL graduated cyliner, height: approx. 392 mm outer diameter: approx. 50 mm, Graduation interval: 5.0 mL, Tolerance: +/- 4.0 mL, Reusable; not sterile pourout; no stopper, Capacity: 500 mL/ Pyrex	1,620.00 /	3,240.00

18	рс	1	Specifications: 1000 mL graduated cylinder, height: approx. 465 mm, outer diameter: approx. 64 mm, Graduation interval: 10.0 mL, Tolerance: +/- 6.0 mL, Reusable; not sterile, pourout; no stopper, Capacity: 1000 mL/ Pyrex	2,520.00	2,520.00
19	pack	1 /	Specifications:50 mL conical tube with rack Capacity: 50 mL Maximum RCF is 17,000 xg - Temperature range from - 80°C to 120°C - 5 year shelf life; Leak proof design - Easy-on/easy-off cap - Clear accurate graduations - Large white marking spots; Certified RNase-/DNase-free - Heavy-metal-free color concentrate - Medical grade polypropylene - Nonpyrogenic - Sterile	2,200.00	2,200.00 !
20	pack	1	Specifications:15 mL conical tube with rack- Maximum RCF is 17,000 xg - Temperature range from -80°C to 120°C - 5 year shelf life Leak proof design - Easy-on/easy-off cap - Clear accurate graduations - Large white marking spots Certified RNase-DNase-free - Heavy- metal-free color concentrate - Medical grade polypropylene - Nonpyrogenic - Sterile	2,200.00	2,200.00
21	box	1 /	Specifications:Parafilm dimension: 4 in. x 125 ft., Odorless, thermoplastic, moisture- resistant, colorless, semitransparent	2,700.00	2,700.00
22	pc	5 /	Specifications:Alcohol lamp, 250mL,	180.00	, 900.00
23	рс	5 /	Specifications:Wash bottle, 500mL, Oval Shape	180.00	900.00
24	box	3 /	Specifications:Scalpel blade (no.10) Material: Steel (carbon) Sterility:non- sterile	35.00	105.00
25	pc	5 /	Specifications:Forceps, Stainless	85.00	425.00
26	рс	2 /	Specifications:Bunsen burner Fine- tuned control of gas intake Gas inake is controlled by a fine-pitch brass needle valve	65.00	130.00
27	рс	1 /	Specifications:Pasteur Pipette capacicty: 1 mL/500pcs	3,500.00	3,500.00
28	box	3 /	Specifications:Scalpel handle (no.3) Material: Stainless Steel, Reusable, Non-sterile, Latex-free, Premium OR-Grade	85.00	255.00
29	pack	3 /	Specifications: Petri dish Actual  Dimensions - 15x100mm	350.00	1,050.00
30	pack	3 /	Specifications:Petri dish, 35mm, Actual Dimensions - 142.57mm O.D. x 6.17mm Recommended medium Volume: 2.5- 3 mL	500.00	1,500.00

31	pack	2 /	Specifications:Petri dish,actual dimensions: 142.57 O.Dx 24.77 mm, Recommended medium Volume: 45-50 mL	1,000.00	2,000.00
32	pc	5 /	Specifications:Stirring rod, Pyrex, 12"	120.00	600.00
33	рс	1	Features:Heat sealer Hand Press Sealer, Technical specifications: 125mm x, 100mm x, 19mm/ 100ml	4,200.00	4,200.00
34	pack	1	Specifications:Weighing boat, Flexible polystyrene boats with smooth surfaces biologically inert and resistant to dilute and weak acids, aqueous solutions, alcohols, and bases, temperature range -10 to 70C, shallow with a wide, flat bottom to resist tipping rounded corners simplify transfer	4,600.00	4,600.00
35	box	2 /	Specifications:Syringe/3ml	420.00	840.00
36	box	2 /	Specifications:Syringe/ 5ml	550.00	1,100.00
37	box	1 /	Specifications:Syringe/ 10ml	600.00	600.00
38	pack	5 /	Specifications:Heat sealable plastic, Color: Clear Size: Medium, Closure Type: No Flap/Open Food Safe: Yes, Heat Sealable: Yes, Thickness: 1.6 mil	330.00	1,650.00
39	pack	5 /	Specifications:Heat sealable plastic, Spec: Clear, large, 1.6 mil, No flap/open	400.00	2,000.00
40	bag	1	Specifications:Pipette tips, Color: White Capacity: 10 µL Non-Filter essential tips for general laboratory usage Non-sterile packaging	900.00	900.00
41	bag	1 /	Specifications:Pipette tips, Color: Yellow Capacity: 200 µL Non-Filter essential tips for general laboratory usage Non-sterile packaging	900.00	900.00
42	bag	1 /	Specifications:Pipette tips, Color: Blue Capacity: 1000 µL Non-Filter essential tips for general laboratory usage Non-sterile packaging	1,100.00	1,100.00
43	pack	1 /	Specifications: Pipette tips with rack (P10) universal fit; low retention;ultra clean,graduated at 2.5 µL, natural, sterile, 96 tip rack hinged	2,000.00	2,000.00
44	pack	1 /	Specifications: Pipette tips with rack (P200),universal fit, Thin wall, yellow, sterile, 96 tip rack hinged	2,000.00 /	2,000.00 No 24) -

45			Specifications: Pipette tips with rack			7.1
	pack	1 /	(P1000)universal fit, blue, sterile, 96 tip rack graduated at 100, 200,500,1000 µLhinged,		2,100.00	2,100.00
46	рс	5	Specifications: Glass Pipette, Material: AR-Glass Feature: graduated subdivision 0.1 mL Capacity: 10 mL, Meauring range: 10 mL		410.00	2,050.00
47	рс	5	Specifications: Glass Pipette , Material: AR-Glass Feature: graduated subdivision 0.2 mL Capacity: 25 mL, Meauring range: 25 MI		711.00	3,555.00
48	box	3 /	Specifications:Needle gauge 18, Length: 1 in. Gauge: 18 / 100pcs		380.00	1,140.00
49	рс	40 /	Specifications: Tuberculin syringe		23.00	920.00
50	pc	5	Specifications: Carborundum, Fast-cutting combination grit abrasive benchstones are /used to sharpen edges on tools to moderate tolerances quickly.		100.00	500.00
51	рс	5	Specifications: Needle holder It is a surgical instrument, similar to a hemostat, to hold a suturing needle for closing wounds during surgical procedures.		300.00	1,500.00 !
52	pack	5	Specifications: Cotton balls (50 balls/pack) Features:100 percent cotton Soft and uniform in Size		160.00	800.00
53	pc	5	MASK: Soft, odorless, comfortable, nonirritating disposable mask with low breathing resistance.		350.00	1,750.00
54	рс	5	Specifications: Funnel, Approx. Top ID: 100 mm Approx. stem length x OD: 100 x 9 mm Approx. total length: 190 mm		325.00	1,625.00
55	рс	8 /	Artificial Insemination Gun (Al Gun) for Dairy cattle		4,000.00	32,000.00
56	рс	3 /	Embryo Transfer Gun (ET Gun) for Dairy cattle		4,800.00	14,400.00
57	рс	4 /	Clamp, (5.5, Stainless steel, Ratcheted finger ring handle		500.00	2,000.00
_			CARDEC LOT 2-J. OBENDENCIO	CARNEC 3		
1	Unit	4	Stainless Steel Wire Basket (Vertical, 357x180mm)		4,000.00 /	16,000.00
2	Unit	2 /	Bacti-cinerator loop sterilizer	-	15,000.00	30,000.00
3	pack	2 /	Disposable autoclave bag (500z300mm,200 pcs./pack		7,000.00	14,000.00
4	box	8 /	Nitrile Gloves (small, 100 pcs/box)		400.00 /	3,200.00

<del></del>	<del> </del>		<del></del>			,
5	box	7 /	Nitrile Gloves (medium, 100 pcs/box)		400.00	2,800.00
6	box	5 /	Nitrile Gloves (large, 100 pcs/box)		400.00	2,000.00
7	Вох	15	Disposable Surgical Face Mask (100 pcs/box)		350.00	5,250.00
8	Pack	10 /	Garbage Bag (Large, 10 pcs/pack)		100.00	1,000.00
9	Рс	50	Disposable Lab Gown/Coat (Medium)		100.00 /	5,000.00
10	Pc	50	Disposable Lab Gown/Coat (Large)		100.00	5,000.00
11	Pack	2 /	Disposable non-woven shoe cover (100 pcs/pack)		500.00	1,000.00
12	Pack	2 /	Disposable Surgical Head Cap (100 pcs/pack)		300.00	600.00
13	Pc	3	Laboratory Safety Googles		400.00	1,200.00
14	Pc	10	N-95 Facial Mask		150.00	1,500.00
15	Roll	10	Aluminum Foil Refill (16 meters long)		200.00	2,000.00
16	Bottle	10 /	75% Isopropyl Alcohol (150 ml)		90.00	900.00
17	Roll	10 /	High Density Poltethelyne recyclable / garbage bags (Size: Large L74cmXW90cm, 10 pcs./pack)		40.00	400.00
18	Roll	10 /	Absorbent Cotton Roll (400 g)		200.00	2,000.00
19	Pack	10 /	High Density Poltethelyne recyclable garbage bags (Size: Large L56cmXW84cm, 30 pcs./pack)		50.00 /	500.00
20	Piece	8 /	Laboratory Gowns	<u>-</u>	500.00	4,000.00
21	Pair	5 /	Laboratory Shoes		300.00 /	1,500.00
	-		CARDEC LOT 2-J. OBENDENCIO	P2	800:00	8,000:00
22	Pcs	10 /	Measuring Pippette 10 ml		800.00	8,000.00
23	Pcs	10 /	Measuring Pippette 5 ml		500.00	5,000.00
24	Pcs	10	Measuring Pippette 2 ml		500.00	5,000.00
25	Pcs	10	Measuring Pippette 25 ml	<del></del>	1,000.00	10,000.00
26	Kit/Pcs	25	Quechers (extraction chromatoraphy kit, quick, easy, cheap, effective, rugged and safe)	.P2	12,000.00	300,000.00
27	Вох	1	Blanc Paper Disc		2,000.00	2,000.00
28	р¢	1	Labelling tapes/stickers		100.00	100.00
29	Вох	1	Polyethylene Plastic Bag 910pcs/box)		100.00	100.00
30	Рс	1 /	RP-C18 (5uM, 250 X 4.6MM I.D) column		30,000.00	30,000.00
31	Pack	2 /	Test Tube with stopper		3,000.00	6,000.00
32	Pack	2 /	Vials with stopper		200.00	400.00
			LOT 3- LUZVIMINDA T. SIMBORIO	C P'B		49% NO.
			·	<del></del>	<u>.                                    </u>	

					<del></del>	
33	bottle	1 /	Nutrient Agar (500 grams)		3,200.00	3,200.00
34	Liters	10	Liquid Nitrogen		250.00	2,500.00
35	Bottle	1	Eosin Methylene Blue (EMB) Agar (500 grams)		3,262.15	3,262.15
36	Bottle	3	Mueller-Hinton Agar (500 grams)		3,500.00	10,500.00
37	Bottle	1 /	Agarose D-1 Low EEO, Cat no. 8012, 100g		10,000.00	10,000.00
38	Vial	1 /	GelRed Nucleic Acid Gel Stain, 10,000x in water, 0.5ml offer: Merck SCT123		17,500.00	17,500.00
39	Vial	2 /	Taq Polymerase, 400-500ul, 5U/uL		16,500.00	33,000.00
40	Kit	1 /	DNA Microbial Isolation/Extraction Kit (50-100 preps)		25,000.00	25,000.00
41	Bottle	2 /	TRIS Acetate EDTA 10X solution (500g)		14,000.00	28,000.00
42	Bottle	2 /	Ultra-pure water, 500ml/bottle		7,000.00	14,000.00
43	Tube	2 /	DNA Loading Dye		5,700.00	11,400.00
44	Tube	1 /	1kb plus DNA ladder, 250ug		21,000.00	21,000.00
45	Tube	1 /	DNTP (Deoxyribose triphospate) for PCR		15,000.00	15,000.00
46	Tube set	2 /	Microbial DNA Primer (27 F and 149 2 R)- Forward and Reverse Primer	c-P3	5,000.00	10,000.00
47	Bottle	6	Mueller-Hinton Agar (500 grams)	CP2	3,500.00	21,000.00
48	Bottle	1 /	Malachite green stain, 1% (100ml)		750.00	750.00
49	Bottle	1. /	Hydrogen peroxide (1 liter)		950.00	950.00
50	Bottle	1 /	Concentrated HCI, 0.1 N (1 Liter)		1,620.00	1,620.00
51	Gallon	1 /	Absolute ethanol, 96% (1 gallon)		3,000.00	3,000.00
52	Bottle	1 /	Benzene, 99% (500 ml)		5,400.00	5,400.00
53	Bottle	1 /	Ethyl ether, 99% (500 ml)		7,000.00	7,000.00
54	Bottle/ gallon	1, /	Sulphuric acid, 0.1 N (per liter)		3,300.00	3,300.00
55	Bottle/ gallon	1, /	Potassium hydroxide, ) 0.1 N (1 Liter)		1,600.00	1,600.00
56	Bottle	1, /	Potassium lodate, 0.1 N (500 ml)		1,980.00	1,980.00
57	Bottle	1. /	Phenolpthaleim, 1 % solution (500ml)		1,650.00	1,650.00
58	Bottle	1. /	Sodium Hydroxide solution, 0.1 N (500ml)		1,500.00	1,500.00
59	Bottle	1,	Methylene blue, 1% solution (250ml)		1,800.00	1,800.00
60	Bag/pa ck	1 /	Copper Sulphate Pentahydrate crystal (1kg)		1,319.00	1,319.00

·		-	GR	AND TOTAL	1,574	,856.85 7 <i>ト</i>
						611.716.70
5	Bottle	5	Fetal Bovine Serum, heat-inactivated, sterile-fillered, cell culture-grade, <20mg/dL Hemoglobin, <10 EU/mL Endotoxin, 500mL		41,288.31	206,441.55
4	Bottle	3 /	Trypsin (from bovine pancreas), lyophilized powder, >9,000 BAEE units/mg protein, sall-free, cell culture-grade, 100mg		8,000.00	24,000.00
3	Bottle	1/	100x Antibiotic-Antimycotic, 10,000 units Penicillin, 10 mg/mL Streptomycin, 25 µg Amphotericin B, sterile-filtered, cell culture- grade, 100 mL		3,000.00	3,000.00
2	Bottle	1 /	1% Penicillin-Streptomycin, stabilized solution, 10,000 units Penicillin, 10 mg/mL Streptomycin, sterile-filtered, cell culture-		3,000.00	3,000.00
1	Tube	1 /	BHK-21 (C-13) cellis, from Syrian Hamster (Mesocricetus auratus), kidney, 1 day old, frozen		100,000.00	/ 100,000.00
			LOT 4-EMMANUEL T. BALTAZAR	viral Dis	zas r	
74	Unit	3 /	PCR (Polymerase Chain Reaction) Kit	/	13,000.00	39,000.00
73	Unit	3 /	Microbial DNA Extraction Kit (50 preps)	)1-P2	19,000.00	57,000.00
72	Kít	2 /	DNA Microbial Isolation/Extraction Kit (50-100 preps)	_	25,000.00	50,000.00
71	Vial	2	Taq Polymerase, 400-500ul, 5U/uL	-	16,500.00	33,000.00
70	Vial	1 /	GelRed Nucleic Acid Gel Stain, 10,000x in water, 0.5ml offer: Merck SCT123		17,500.00	17,500.00
69	Bottle	1	Agarose D-1 Low EEO, Cat no. 8012, 100g		10,000.00	10,000.00
68	Bottle	6 /	Mueller-Hinton Agar (500 grams)		3,500.00	21,000.00
67	Bottle	1 /	Eosin Methylene Blue (EMB) Agar (500 grams)		3,262.15	3,262.15
66	Liters	100	Liquid Nitrogen (per liter)		250.00	25,000.00
65	Bottle	1 /	Mac Conkey Agar (500 grams)		10,500.00	10,500.00
64	Bottle	1 /	Sodium Chloride (500 g)	(-1/	500.00	500.00
63	gallon Bottle	1	Glacial Acetic Acid, 1.0 N (4 Liter)  Nutrient Agar (500 grams)	C-P2	3,200.00	3,200.00
62	Bottle/	1 /	Object of Acres Acres A CALMA Date		2,500.00	2,500.00
61	Bottle	1 /	Potassium lodide, 10% w/v (500ml)		2,450.00	2,450.00

#### NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- 1. In this Agreement words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract referred to.
- 2. The following documents shall be deemed to form and be read and construed as part of this agreement, viz,:
- (a) the Bid Form and the Price Schedule submitted by the Bidder;
- (b) the Schedule of Requirements;
- (c) the Technical Specifications;
- (d) the General Conditions of Contract;
- (e) the Special Conditions of Contract; and,
- (f) the Entity's Notification of Award.
- 3. In consideration of the payments to be made by the Entity to the Supplier as hereinafter mentioned, the Supplier hereby covenants with the Entity to provide the goods and services and to remedy defects therein in conformity in all respects with the provisions of the Contract.
- 4. The Entity hereby covenants to pay the Supplier in consideration of the provision of the goods and services and the remedying of defects therein, the Contract Price or such other sum as may become payable under the provisions of the contract at the time and in the manner prescribed by the contract.

IN WITNESS whereof the parties hereto have caused this Agreement to be executed in accordance with the laws of the Republic of the Philippines on the day and year first above written.

The Common Seal of CMU, Musuan, Bukidnon was herein affixed in the presence of DR. **JESUS ANTONIO G. DERIJE** 

Signed, sealed, and delivered by CHEMVEST COMMERCIAL TRADING in the presence of JOEMARIE LAGRIMOSA VERDEPRADO. Binding Signature of Supplier: Binding Signature of Entity: mm) LAGRIMOSA VERDEPRADO **JOEMARIE** US ANTONIO G. DERI President Authorized Representative : Witness: MARIA JAMELLAH CELESTE M. MAGALONA Chief, Accounting Unit

ACKNOWLEDGEMENT

REPUBLIC OF THE PHILIPPINES) PROVINCE OF BUKIDNON MUNICIPALITY OF MARAMAG)

BEFORE ME, a Notary Public for in the above jurisdiction, on this day of personally appeared the following, exhibiting to me following described Competent Evidence of Identity (CEI) accordance with the 20m Rules on Notarial Practice.

Name	Competent Evidence of Identity	Date/place Issued				
JESUS ANTONIO G. DERIJE	•				<del></del>	<b>\</b>
JOEMARIE LAGRIMOSA		1 /	1	ì	Λ	
VERDEPRADO			L	ļ	[ <del>]</del> _	<b> </b>
Known to me to be the same person who ex	ecuted the foregoing instrument and who acknow	wiedge to in	that the	same is t	ndir free a	id voluntar
act and deed		1	1	1	11 1	

This instrument refers to the Contract of Agreement consisting of (3) pages including this page, signed

and every hereof and thereof, including this page whereon the acknowledgement is written.

IN TESTIMONY	WHEREO	F, I have hereputo the Municipality	get unf hygne	dΩΩanked on e	very page hereo	ी <b>वि</b> श्वकारम् १	Mearth	ilssion N	93/64	20-15	9-202
"nc 110	_ <i>[97</i> i	the Municipality	D Trio	Province of	of		II of A	ttornev'	Nb.	15956	3
	4					PT <b>I</b> R	No. 50	025559d	Jan.	25. 20	021
	4/6							207006			

137 No. 097096-10 Dec. 2019 TIN 105-257-467 MCLE Compliance No. VI-0000013 5-B35, Yakal St., Purok 63, Phase I 8021 S.I.R. New Matina, Davao City

2 THEO OF 90 21